@) 9 HEE
(|) 1 HPE
() 5 KEMRE

K JE A < £ E ke 19
: X 4y & F|
Bt
HE
1, 461, 837 1, 347, 659 114, 178
@) 10 #HEFE
() 1| HERGE
(B) 1 HEBELRELH
N ) . i
VN &F B Al S i3 54 2
~ X 2 & %A
3, 267 3,390 A 123 1 % e 2,400
8 it % 394
9 % i # 185
10 58 i # 76
18 A& K OAZ (4 212
EH}
() 10 #HER
(TH) 1 HERGE
(B) 2 H:ERHE
x4 B il E =g 19
X 4y 4= %A
319, 787 282, 678 37, 109 1 ]| 657
2 & b 101, 228
3 B OB oY % 105, 722
4 3t 3 # 62, 870
8 i % 500
10 55 H # 1,034
11 % % iy 645
12 & 7t £t 77
18 AL/ M 0214 35, 007
24 Fi N7 4 12, 047

— 204 —




(H4z - TH)

= ES ball B B
X 5 % H A R
[HIEAR]
Hi 5 (& 224, 500
Z oA, 1
— W AR 115, 775
[ RAER]
5 E 224, 500
Z DA, 1
R 1,237, 336
(HfAr : TH)
%= £ ] 5 ]
X 5 53 H A R
| BELEBSFE 3, 267 1 M 2, 400
(HERBEH) - &8 S 2,400
8 Jik% 394
[HEINGR] - B #RME 394
— IR 3, 267 9 RERE 185
- RRRE 185
10 HH%E 76
- {HEEME 76
18 A& &R U2 FH 4 212
- Al 200
- EAEE 12
[BHE AR ]
— %A IR 3, 267
(HAL - TH)
* % gl it o
X o 53 H A BN
1 BB e g 252, 501 2 fakk 101, 228
(ANEH) 22 (2) A - RERINAR 8, 268
FERI 1A - — IR 92, 960
JMBEFYUE 78, 782
[ IRAR] CPREEFY 3,774
— IR 252, 501 - PR Y 6, 804
- Mgk F Y 13, 404
- HIERFY 29, 309
- BTy 17, 633
ERETY 618
- RERA AL 807 T4 5, 800
< IRA G 150
CBETY 1,236
- BB RS T Y 54
4 JLERE 37, 569
- MITATER B S F A AEe 37,012
- WK B EMERSARE 557
18 AH &M K O 4 34, 922
R HAES 34, 922

— 205 —




GK) 10 BB
() 1 HERBEE
(H) 2 =HER%

A | T 4E

W

e %

P
&

HE

— 206 —




(BEA7 : TH)

= Al B 3]
=S %y * H BN
2 WEAELFHE 930 1 N 350
(FERHER) - & B SN 350
8 k& 121
[BHEPIER] - E R IRE 121
— B R 930 10 ERE 274
- WHEES E 13
- BEE 9
- FIRISLAE 252
11 BB 108
- (R ERE 108
12 FZEEpt * 77
- BREREERST - BRENEZGE 77
SHERGHRE 2,068 T 307
(FEBERER - Z B R 307
8 ’ 379
[BRAR] - BRARME 106
Z Ot 1 - W@ R 273
— XA 2,067 10 HERHE 760
~ - HEESL 205
- B 5
- FTRI A 2 550
11 %5 537
- (G E R 537
18 A& K O A4 85
- B4 58
- HAHES 27
4 HEMRERLSEHFE 478 | 24 Fixr & 478
(A BGR) - HE R R 4 478
[ATRAER ]
Z D, 278
— AP 200
b AR FEEARE S SRS 52,241 | 3 MREFYUE 26, 940
w KT 26, 940
N5y 4 EHEE 25, 301
- R PRI 23,095
[BHEAER] - JE FA{RIE) 2,206
[ RS 4 1,013
— AR 51,228
6 / —~)LPEL R E S B R 11,546 | 24 fi~2 & 11, 546
Mg FL ey B < YU BRI R A 11, 546
(M BGR)
[FAIRAER ]
Ot 12
— W FA IR 11,534
T HEIERILS TR 23 | 24 fisr & 23
(W BGR) - HERALES 23
[FERAER ]
Z DAl 23
R REN
[E] R S H 4 1,013
Z DAt 314
— X IR 318, 460

— 207 —




) 10 HEE
(TH) 1| HERGE
(H) 3 #HERER
i
A FE K| AT F K i
X o #H
174, 507 152, 443 22, 064 1% ] 83, 835
T 18 % 723
8 fik ¢ 3, 343
10 H % 1,159
11 %% % % 481
12 & it Bl 65, 043
13 fF A Bk & O & &k 3, 047
4T F F A B 16, 000
18 AR K O 4 876

— 208 —




(HAL - TH)

S

%= ] 7 ]
X 5 52 H &R
1 HERERE 125,919 1 SR 83, 603
EWRHER) < BE RN 1, 440
© SEHE TR E W 82,163
[ BRI ] 7 WRIEE 379
EEZH4 3, 200 « HHL 159
— M R 122,719 I RN 220
8 fif g 3,263
- BHPE 3, 208
- M@ 55
10 ZEHRE 344
- FTRI S A2 344
12 ZFeh 21, 439
- ZDOMOEFE 21, 439
13 fi kb R OVE AR 15
- BEHOIG 0 A Bl 15
14 THFAR 16, 000
- RN 16, 000
18 AH&HB R U2 FH 4 876
- AiEs 86
c A4S 290
- WiBhe (FEMBE) 500
2 ABEH G R FE 48, 588 1 5B 232
(FRHB) - ZE S 232
T MR 344
[ IEMNRR ] - #HL 50
[ERZH & 842 - ZEHEHHL 124
FDfth 30 © GHERTEAL 140
— AR 47,716 SAVN Y S 30
8 Jik#t 80
- B HE 80
10 #R%E 815
. VHEESLE 531
R 284
11 ZBE 481
« B fEEM 45
- PRERE 436
12 FZFek} 43, 604
C EDMDOERE 43, 604
13 i FR R OVE A 3,032
- A R 2, 874
- NSk 158
[FAIRAER ]
[ IR H 4 4,042
Z Dfh, 30
— XA 170, 435

— 209 —




) 10 #HEH

(FB) 1 #HERBE
(B) 4 AHEEHZE
: : i
A g om F E 54 19
- X 4 & @
11, 585 12,025 A 440 1% [ 2,989
7 & % 4, 540
8 fife iy 545
10 5 H # 1, 850
11 %% % # 424
12 & HE B 690
13 H & & O & & B 45
18 AH& M K A4 502
Bt
(&) 10 HE%
() 1| HEWSEE
(B) 5 L¥&EeHE
i
fi# 5[] =3 e L
Vi & i £ E B - — = -
5, 428 4, 828 600 1 % oAl 13
8 ik # 5
10 % H % 3
11 1% % # 7
18 A& MBI K O 4 5, 400
H &t

— 210 —




X

*

il
45

%
11, 585

B

(B TF)

(B4 IR )

1 SR

: B
H

— IR

11, 585

%

lﬁjﬁp\]ﬁﬂl
—HE 11, 585

- AL
. SRET AL
8 Wt
- RS
- SR
10 EAH
- HELE
- PRAL
- RfaR
- eBORE
it
11 BBEE
- {E ERE
- {2 TR
- PRI
12 ZF6H
i 5% % B B RE
13 £ FARE R OVER AR
- 5 L R

18 B &R Kk O AH &
REE R

AR

2 B AR EL RN
7 HEE

2,989
2217
2,762
4, 540
864
3,676
545
114
431
1, 850
569
20
108
703
450
424
226
24
174
690
690
45
45

502
125

377

*

77
I RER RN TE
CEREETTR)

¥
X

il

[iEPER ]

* H
5, 428 T

Z Dt

1, 800
— IR

- ZE R
8 Wity

3,628

(Ej(}}ﬁqugﬂl
Zoft,
— IR

1, 800
3, 628

- B

10 EHE

. . ﬁ%%

11 BBE

. @1%‘@#&% |
18 ARSI E 054

it

— 211 —



GR) 10 HEH

(CH) 1 HERGE
(B) 6 hiEEE
x4 E Hi 4 B =4 12 al
&+ & HIJ R 29 - — - -
362, 826 154, 180 208, 646 7T & # 438
8 fik b 3
10 & % 15
11 % “ % 82
12 & it £ 766
18 BH &R & O 14 21,048
19 & B % 340, 474
H&t
) 10 #HEE
(TH) 1 BB
(B) 7 #HEv X%
léﬁﬁ
A4 i3 Al 4F B 159 L3
. X 5y & %8
22, 609 21,116 1,493 1 B 17,435
7 R 15 # 156
8 Jik # 923
10 5% i # 1, 641
11 #% % % 347
12 Z& it £t 1,158
13 ff OB R OV i R 745
17 & B OAN 198
18 BHEHM M O 4 6

— 212 —




(BT TH)

*x 3 il B ilj]
X o x H EN
1 SRR ¥ 432 7T BIEE 408
(RER) - L 378
« GHRTHHL 30
[ MR 10 HRE 15
AR 432 - AE 15
11 BBEE 9
- BIETERE 9
2 ShHER F ¥ 362, 394 T MR 30
(RER) - FAMATL 30
8 & 3
[BHR AR ] - W@ R 3
ERZ 4 263, 186 11 BBE 73
— IR 99, 208 . B{E ERE 73
12 ekt 766
« FOMDERE 766
18 AHSHMBI K O T4 21, 048
- B4 (EHEMBHE) 21,048
19 $RBHE 340, 474
- PRBVE 340, 474
[RAIR AR ]
[ R 32 4 263, 186
— A% B 99, 640
(Hh7 : TH)
# ¥ il F 1]
X 5 % H BN
| BB RS 22,609 | 1 %N 17, 435
(CEREE)  SFHEEEAT F T B A 17, 435
7 HE R 156
[FAJRNER ) - HHL 3
[ R H 4 4, 009 - FHEATRSAL 153
— IR 18, 600 8 e 923
- BHRE 869
o 3 Sy 54
10 HH%E 1, 641
C HEESE 517
- SRR 22
« Fll A 69
< eEKE 753
- AEREE 280
11 &% 347
- I {E A 332
- Wb R FECR 10
- PRIERH 5
12 FFeR 1,158
- MRk HE LR 1, 158

— 213 —




G 10 HEZ

() 1 HERBE

(B) 7 #HEwLFZ—H
0]
A FE S OE | AT FE t [
HE
TERt
900, 009 630, 660 269, 349
() 10 HBE%
(TH) 2 /NFeE
(B) 1 &R !
f:1]
A & E Al G [E 24 B
X 45 4 R
408, 121 524, 133 A 116,012 1 # A 72, 565
7 #H & # 1, 543
8 Jit # 2,962
10 & Jic| % 118, 883
11 % % # 13, 860
12 & it Bl 48,930
13 18 1 OBF K OV & i B 87,198
MWL F # A # 15, 605
15 & B A4 # 417
174/ & B A & 41, 022
18 B HHAHE) K O3 42 5,135

21 HfE, A S E 6

— 214 —




(BAL : FF)

*® 3]l B A
X oo * H ] N
13 5 kL e OVE At 745
- BIE RS AR R 397
- H RS BRLAE F R 72
- T L EHEER 20
< SR AE R 201
N 14
- BB RSB ED g AR 41
17 B R 198
- HE 78
« it g% FH A 120
18 A E&HEB R U4 6
‘ - B4 6
[BA IR NER] ,
[E 53 H 4 4,009
— IR 18, 600
[BHENER]
[ 32 4 272, 250
F D, 2,144
— XA 625, 615
(BA7 2 )
= il B ]
X oo % H ] 3
1 W IR A 23,071 1 KB 12, 205
(FIREER) - BB SR 12, 205
8 f#E 594
[FHEPER] - B HE 592
Z D 1,678 - R 2
— B B IR 21, 393 10 H#HE 224
- JHAEME 115
- FR|8UA 2 109
11 BBE 2,283
- B fEE R 146
- (HEHES TR 1, 763
- PRERAEH 374
12 &Hieek 3, 650
- FOMMOZEE 3, 650
18 BB &HB & U4 4,114
- A4 4,114
21 #itE., HEEROES 1
- =DM E R 1
2 HBEREFE 34, 303 1 #REN 31,733
CHR BT © DFHE (T IS 31, 733
7 MER 220
[BAIRPAER ] - SERTHHL 220
— xR 34, 303 8 1,188
- B HE 1,188
10 EHE 154
- JHEESL B 154

— 215 —




) 10 #HE#®

() 2 AVER
(H) 1 sy

@
X 4 B |w & E| W i

#H

— 216 —




(HAr - FH)

4 ¥% el B |
X & x H EN
11 5% 149
- ZOMFER 149
13 B RO EES 842
« N MR 842
18 A& K O34 17
: - A 17 .
3arvba—HERFEE 74,028 | 10 EH%E 1,202
(FRHE R - HEESE 902
- ERER 300
[ IEAER ] 11 BEE 5,189
— AR 74, 028 - I {EEMRE 5,189
12 Ziep 4,166
- BEERERST - BAEUHLESE 4, 166
13 AR R OEME 58, 290
- B ARE AR 50, 641
- T OfhfE R 7, 649
14 THFEAR 5, 181
- R 5,181
4 N PR 31,101 | 7 WmiB®E 84
(BB - #HL 54
: o FHRHTETAL 30
[FHRPAER] 8 fik 60
— R 31,101 - B 60
10 FH#& 1, 905
- HEE A 1, 865
- B 40
11 B%E 3
- IEAF E M 3
17 fi A 29, 049
- ME 28, 941
R 108
5 FIRHE F ¥ 23, 556 7T RER 1,231
(BHERIEH SNy 1,231
10 % 13,949
[ IEPER ] - THEESL B 13, 706
[ R 32 H 4 468 - FIR B AR 243
— IR 23, 088 17 fi AR 8, 376
- [XE 4, 560
- R db 3,816
6 PR FEEEE 169, 270 1 SN 28, 627
(BB o S FHE EET R IR B 28,627
7 WER 8
[FAJRMER ] - #HHL 8
Z DA 1,230 8 fER 1,120
— X AR 168, 040 - BRHARE 1,120
10 FH% 80, 449
- JHEES 15, 869
- PRELVE 1,371
- Rk 184
- FIRI A 436
< EEOKE 58, 550
- ERERE 1,749
- SEHIE 2,290

— 217 —




G 10 HBE#H

() 2 RS
() 1 piEms
i
A E | moF E| Kk ®
B 5 G
Aar

— 218 —




(B4 . FM)

= all B W
X 7y * H M 7
11 &5E 6, 082
- EAEERRE 3,635
s 7)== 78 274
- B fF HRIA Tk 5
- FHESRRAE TR 32
- BT FREE 453
- {RERR} 641
- BEFEW AL T H0R 11
« FFTE FRE PR SR BESE W AL TR T HOR) 57
- R TE FE B AR BE JE W iE I A0k 40
< O TFECRE 934
12 ZEER 38, 878
- MRk E AR 38, 271
- FDOMOEFE 607
13 fif FiB R OVE 1R 9, 088
- IR AR 932
- 7 L BB 203
- BEYEME AR 49
« HHGE AR 7, 360
- BB RS BR A B aE A 538
- Z O fE AR 6
15 JFbt Bh & 417
- EME 417
17 ﬁuuﬁﬁkﬁ' 3, 597
PR 3, 597
18 ﬁ#ﬂé*@ﬁb&oiﬁﬁ 1, 004
- B 1, 004
T R g3 52,792 | 10 ERHE 21, 000
(FBEBRBET) - (ERER 21, 000
11 BE% 154
[BAJERPIER ] - BT TR 15
Z Dfih, 9, 000 © FOMFEEE 139
— IR 13, 792 12 Fiekh 2,236
- R EERGE 2,236
13 R R OVE s 18,978
- FOfthfE Ak 18,978
14 THHAR 10, 424
- MERFAlIE T 5, 000
- ATHR R 5, 424
[ JRPER ]
[ IR 3 4 468
DAt 11,908
— xR 395, 745

— 219 —




@) 10 BHEE

(@) 2 INFRE
(B) 2 HEBEREEE

K F E L e e il
. X % il
56, 542 54, 615 1,927 | 8 ik & 3
10 & H E- 20
19 #& B % 56, 519
HEt
TERF
464, 663 578, 748 A 114, 085
Gk) 10 #HE#
(TH) 3 W%
(H) 1 Z#REHEE
K e og | o B i
X o il
240, 595 194, 392 46, 203 H B 24, 260
H {1 # 4, 543
ik # 1, 209
= M # 76, 930
1% % # 6,911
% it £ 34, 565
AR R & E R 31, 502
T # ¥ A % 44, 121
/-G N - S 504
fii W W OA B 10, 419
BHEMB R O T4 5, 630
i, Wk O EES 1

— 220 —




(B TH)

Lo pall E G|
X 5 52 H R
I BhPXEEE 56,542 | 8 W& 3
(ERHE) L EERcE 3
10 FR%E 20
[BHFE AR ] - HEESE 20
ERXZ T4 1, 297 19 $:Bh#E 56, 519
— R IR 55, 245 - BBhE 56,519
[HEAR]
ERZ 4 1, 297
— X 55, 245
[MRAFR]
R X 4 1,765
Z Dt 11,908
— % B IR 450, 990
(BT TM)
= i # il
X %l % H A
1 AEEREEE 11, 827 1 S 5,957
(BB - & B SN 5,957
8 Jik# 295
[EAR] - B AE 295
Z Dt 791 11 %%%E 842
— AR IR 11, 036 - RERERZ TR 658
- {RBRB 184
12 ZEeR 2,742
- ZOMDEFE 2,742
18 A& B K U2 fF 4 1,990
- AHg 1, 990
21 i, MEEROHES 1
- T DR HE R 1
2 HERERE 18,127 1 R 5, 291
(CEIRBE ) o SRHEEBE(T AR B R 5,291
7 WEE 3, 490
[BHIRPNER ] - L 3, 300
] R S 2,765 - GHET AL 190
— AR 15, 362 8 fik# 238
- BHRE 238
10 % 928
© VHEEM 2R 928
11 &%E 270
- PRR 270
12 ZEekt 1, 760
- ZOfDEFE 1, 760
13 AR R OERE 3, 350
- XA R 3, 350
18 A& B K O ff 4 2, 800
- B (FEMBE) 2, 800

— 221 —




) 10 #HEHE
(T8) 3 HERE
() 1 PIREHE

Z O

P

e L2

— 222 —

&




e TF)

= pall B ]
X 2 53 H ] BN
3 arta—XEHEE 34,364 | 10 EHE 757
(FREER) - VHEESLEr 457
- [ERERH 300
[ EAER] 11 &%%E 2,263
— AR 34, 364 - B ERE 2,263
12 ik 1,893
- BERRERST - EEBLEGE 1,893
13 R R O EfEE 27, 096
- AR AR 23,019
« Z OfERE 4,077
14 THFEAR 2, 355
- THR 2, 355
4 PR R 1,282 T MEE 20
CEREE) S AT 20
8 hk#E 32
[ IRPAR] - M R 32
— W B IR 1, 282 10 ERE 757
- HEE 721
- B 36
11 %&%E 23
- B {E E R 23
17 i AR 450
- E 450
5 FRBEFE 19,841 | 7 #{EH 1,033
(HE R AP 1,033
10 FHE ' 11, 597
[FHEPER] - HEESRE 11, 391
EIRZ 4 485 - EIRI B A 206
— B IR 19, 356 17 fH SR 7,211
- XME 3, 240
- SERE S : 3,971
6 FRRT I B 98, 811 1 $REH 13,012
(BERHER) © EFAE EEE A S 13,012
8 fiE : 644
[FAIRPMRR ] - B ASE 644
— W IR 98, 811 10 HHE 50, 891
- HEEAL 2 9, 064
- BREVE . 906
- R 19
- Fl R S A 233
oo REOKE 38, 282
- ERERH 1, 550
- BEHIH : 837
11 &E#* 3,413
- B{E EMR 1,825
s V== T8 101
- EREIRIAA TR 5
- FHEARR A TECR 21
- BT FRER 323
- PRREH 503
- BEFE AVER TR 11
- 5 TE F BT FAHS AR BETEY) AL B OB} 50
- I TE G2 RE FAHE AR BE SEN B F AR 40
- = DO FECE 534

— 223 —




() 10 HEHE
() 3 HERH

(B) 1 FREmE
=]
VN &F B i wE L1 - p = p
H&
() 10 #HEZ
(TA) 3 EEHE
(B) 2 #HERAZE
i
A | A 3 [i% 2
N o i3 Gl i E B - ~ . po
48, 267 48, 884 A 617 19 $& = 48, 267
H&t
gt
288, 862 243, 276 45, 586

— 224 —




(AL . TH)

% ] B G|
X 5 53 H M BN
12 Z3eR 25, 693
- MERR HEEZGE 20, 701
« FOMDERE 4,992
13 fE R R OVE A 1, 056
- B AR AR 682
- 7 L EHREEE 75
- BEhEEAE 49
- B RS BRANED RS 55 A 245
- T OfhERE 5
15 JRt L% 504
- B 504
17 AR 2, 758
- R 2,758
18 AH&HHB R O A4 840
- B4 840
T PR R 56,343 | 10 EHE 12, 000
(BBERBER) - (ERERE 12, 000
11 %5 100
[ EAR] - Z DOt FER 100
H 5 (& 25, 500 12 ZFEE 2,477
Z DA 3, 500 - HRREERGT 2,477
— AR 27, 343 14 THEFHFAR 41, 766
- MEFEMIE TH 3, 000
< fTHUMRER E 38, 766
[ IRAER]
[E R S 4 3, 250
5 & 25, 500
Z D, 4, 291
— IR 207, 554
(BApL : FH)
# il 3 #
X 5 53 H ] R
1 BEF iR ¥ 48,267 | 19 ¥BhE 48, 267
(FREEM) - PRBhE 48, 267
[FHFENER]
=2 4 977
— AR 47, 290
[RAR]
=3 4 977
— XA IR 47, 290
[ IRAR]
[ 3 4 4, 227
5 E 25, 500
Z Dt 4, 291
AR 254, 844

— 225 —




(k) 10 HEE

(/) 4 HE#HEE
(B) 1 HEHERBE
i
& 4 | w &£ m| o w & "
lX AN /:é gﬁ
238, 507 242, 957 A 4,450 1 [ 4, 659
2 %8 £ 99, 061
3 B F 4 % 67, 608
4 4t b3 # 32,828
T # # 14,116
8 fix % 535
10 & H % 4,638
11 % % % 770
12 & R £t 9, 550
IB3FERABEE®EE 988
4T F F A % 938
15/ M g ¢ 132
17/ & B A #H 258
18 A AR & O34 2,425

22 BB AR R OEIG £

1

— 226 —




(BA7 2 T
ka8 ¥ Jall B ]
X » * H EN
| BEFEEHSEE 199,497 | 2 %% 99, 061
(ANZFE) 24 (3) A - — IR 99, 061
SMEFYUE 67, 608
[ RAER] CPREFY 2,634
— B IR 199, 497 - EHR T Y 3,720
- MU T Y 12, 650
- HIERFEY 24, 453
- EnfhEY 17, 180
- EETEY 1,278
- BRSNS Y 3, 800
EIN=F 100
CHEFY 1,772
- BEUR BRI B F Y 21
4 LEE 32, 828
- TRTH BB LA A4 32, 828
2 MRt T b HEFE 12, 383 7T REE 11, 202
(FF CTRER) - AL 11, 202
10 HHE 661
[FHRAER ] - HFESE 543
ERZ 4 8, 149 - PREHE 67
— IR 4,234 - BEE 21
- AEEKS 30
11 BBE 378
« JB{EERE 273
< B PR 14
- PR 91
17 fi S A2 142
~ - K% F i bh 142
3t HE e 6, 136 1 1,877
(Ft=ZEM) - B 429
© SEHEEEAT A S 1,448
[ IEPMNR] T EE 372
T Ofh 1,120 - L
— R IR 5,016 - FEEMFHTAL 361
- R SR
8 IE 352
- BRI E 301
- R 51
10 FER#E 586
- VHEESLE 579
11 &BE 60
- B IEERE 58
- PRI 2
13 ff FB & OVE ) 594
« N2 AE R 594
18 A& &K ORfH4 2, 295
- Alg 119
c RS 25
- WiBhE (EEMBE) 2,151

— 227 —




() 10 HEE

(H) 4 tH2BER
(H) 1 #aBERBRE
i
A H . E | BT O#  E ke L

#

— 228 —




(Hfz . 1)

*+ il B 5]
X 2 * H EN
4 FRANREE 1,582 | 7 HMIBER ' 74
(HE B - At ™
10 ER%E 106
[FHHEAER] - HEEE 22
— R 1,582 - B 6
- FlTRI S A 2 78
11 B5# 82
- IB(EIENRE 82
12 ZE5e8 1,320
- TDMDEFE 1, 320
5 EVEFH HEdE R 3 1,951 1 BN 1,523
FE=HER) o S FHE T B SR 1,523
7 WMEE 108
[HEPER] - FERTAHAL 108
— %A IR 1,951 8 fiEt 51
- F AR E 40
- W EARE 11
10 HHE 169
- HEELE 23
« FlIRI LA E 146
18 AHE&ME KR %A 100
- BE 100
6 MR REEE F 4,833 1 BN 1, 259
FESHFR) - ZESHEN 154
« o EHE AT T B R 1,105
[BAIRMAR] 7 WIER 2, 360
Z DAt 1, 600 - FAm AL 2, 260
— X IR 3,233 STy 100
8 & 132
- B HFE 124
- AR 8
10 FERE 408
- VAR 346
- ke 36
« PRI BEA 22
- RAEZ S, 4
11 B#H# 210
- B IEME 177
- GERREE 17
< BT FREE 16
13 5 R R OVE 318
o SRESHE AR R 288
- B B RS BRI ED &5 5 R 30
17 fif S A 116
- Jit 5% i & 116
18 A& R O 4 30
- EAHEE 30

— 229 —




Gk) 10 #HEBE®E
(FA) 4 tLoEE®
(B) 1 HE2HERER

/En’k-
X £ Elwm & | & B "
X oo 4 i)
Hat
G 10 #HEL
(TH) 4 HEHBER
(B) 2 [KEAEE
ﬁ/e
x o gl & E| B 0 & -
’ X 4 & %R
158, 047 169, 420 A 11,373 1 A 1,031
7 & % 178
8 Jik by 80
10 7% Ji| oy 24, 653
11 % % # 1,819
12 & it £ 103, 504
13 fif OB e OV & B 6, 337
15 J5t # Bt # 25
174 & W A 20, 372
18 A EHHB &K O f 4 48

— 230 —




(Bfr : FH)
= ¥ bl #
X o 53 3] B
7T R K e EER ¥ 12,125 | 10 EHE 2,708
GLE#HER © VHEES 120
- 2,088
[ IEAER] - (kR 500
Fofth 540 11 %% 40
— AR 11, 585 - VLR R A T ROR 26
- PREEE 14
12 ekt 8, 230
- fEERSE LR 8, 230
13 B R OVEfE R 76
- WAk BRAE AR \ 61
- 7 L EHREEE 15
14 THEHEAR 938
- TTELMER 938
15 JF AT BHE 132
- BME 132
22 EREF)F R OHI5 B} 1
- BR A 1
[FHRPNER]
ESlES Ao 8,149
Z Dt 3, 260
— AR 227, 098
(A7 FH)
G ¥ il i Eh|
X S X Hi g
1 [ EEE 3,287 1 1,031
GLSEEM) - ZR S 117
© DEHEEE (T A S N 914
[ EAER] 7 EE 3
— W AR 3, 287 - #HL 3
8 & 80
- BRAE 51
o 3 R 29
10 EH#E 52
- THFESL 2 8
- FITR A H 44
11 #5%& 1, 354
< H{EERE 1, 346
.« OMFER 8
13 R R OVE R 719
- HEEARE R 436
S g 7Y v S 32
o L HfE FRE 251
18 AHEHMBI R O 4 48
= EERN 37
- FEAEE 11

— 231 —



) 10 #HEE

@) 4 HEEEE
(F) 2 St
i
A o | W ® B | K B
X 5 4
et

— 232 —




(Bz . TA)

= ES bl B 8
X 52 53 H ] R
2 MEMERERETESE 54,201 | 10 EHE 19, 532
(HL=EE\R - HEERE 630
~ - REKE 16, 070
[FAJENER] - ERERH 2,832
Z Dfth, 710 11 %B%& 156
— AR RIR 53, 491 - PRIRE 137
- BREY) EHIHRE RS TR 13
« BT K A K 18 R A Ok 6
12 TR 34,191
RSB 26, 191
CRBBREELG 8, 000
13 fE AR & OVERER 297
- BEFRE PR AR 231
- BE RSN R ED 3R AR 66
15 AT e 25
- EME 25
3 XERET—E ARE 100, 559 T HEE 175 |,
HES#EFR) - L 9
« SRR AL 122
[BAIRPIRR ] - AR 44
— W AR 100, 559 10 HRE 5, 069
- HREA 4, 444
- BREE 10
- FlIRI A2 615
11 BeH# 309
- TG IEWRE 298
- OMFER 11
12 ZRER 69, 313
- MEER SR ST - BEAEEERE 1,310
- T OO ZEFE 68, 003
13 B FR R OVE AR 5,321
- FG R AR 5, 255
- OffE A 66
17 i A E 20, 372
- X 20, 372
[BHENAR] :
Z Dt 710
— W IR 157, 337

— 233 —




() 10 BAEH
(B 4 H=BEH
(H) 3 bhfri#d

x & g |w & E| & & -
X 5 & G|
32, 955 39, 339 A 6,384 1 % i 10, 855
7 & # 353
8 Jik # 766
10 & H % 3,310
11 7% % % 399
12 & 2t ¥} 11, 880
1346 A B KB OV B 3, 466
4T F FH A B 344
18 AMEHBI K O 44 1, 582

— 234 —




(Bfz . T-M)

% Al B
X 4y * H R
1 TiRmSASTE 3, 067 1 BN 319
GL=#HEH) - & B S REN 319
8 ks 137
[ PER] - BRE 110
— X AR 3, 067 - EilhcE 27
10 ZRE 26
- VHEES 2 19
- BrE 7
12 ZFER 2,575
- EOMOERE 2,575
18 A H&MB K O 4 10
: - A4 10
2 AL 2,146 | 10 ERE 368
(FE=BEM) - VHEESL 270
- FRI A # 98
[FHIRAR] 14 THHEAR 344
Z Dl 44 - TTE S 344
— W BFIR 2,102 18 AHEMB R OR 4 1,434
- e (FEMBE) 1,434
3 bR 5, 764 1 SR 367
GEE#EEM) - Z B SR 367
7 B 119
[FHFRPR] - #HL 119
— i AR 5, 764 8 f 301
- B RFE 126
- MEARE 175
10 HH%E 229
- HEESE 79
- JEOKE 100
- (EREE! 50
11 %B%® 38
© FOM TR 38
12 FF0E 4,572
- hER% HE LG 4,572
18 AHEMMBI K O T4 138
- Bfe 118
cFHAESE 20

— 235 —




() 10 HEE

() 4 HRBH#E
(B) 3 bR
i
N A A S 4 Id L -
S 5y #
H &t
THF
429, 509 451,716 A 22,207

— 236 —




(BHZ - TH)

= il ik #
X 5 * CH BN
4 AR E SR E 8,571 1 B 3,133
H=HEFHR « S FHE BT TR S N 3,133
7 WEE 234
[ RAER] - AL 234
[H R H 4 3,817 8 WE 101
— % IR 4,754 Co- BHAME 101
10 ZHE 91
- THEES A 80
- BB 11
11 &5#E 10
- PREE 10
12 Z36k 1,937
- TOMDEFE 1,937
13 FERBIROE R 3, 065
- BHEE AR 2,988
- Z O AR 77
5 Wb v ¥ —dEE S 13, 407 1 7,036
E - R EHE AT AN S 7,036
(CIREE =) 8 & 227
- BRE 227
[ IRPER ] 10 HRE 2, 596
— X B 13, 407 - JHFEME - 372
- REHE 42
- B 11
© FEERK 1, 598
- AERER 573
11 BHE 351
- EfE R 287
- A R A AR 7
- PREEE 57
12 ZLFEkt 2,796
- EER S E BT 1, 861
- HRERRERST - B LRE 935
13 R OVE A 401
- FGHER R 317
- i A% LAl R R 69
- 7 L ETREE 15
[CGVASED !
[E W32 H 4 3,817
DA 44
— IR 29, 094
[ AER ]
[E R 32 4 11, 966
ZOfh 4,014
— xR 413,529

— 237 —




() 10 BEE

(H) 5 REEEE

(B) 1 REEEREE
il
o g | W & E| & ® -
82, 084 72, 207 9,877 |. 1 % [ 1,250
2 %8 B 27, 734
3 B F oH = 24, 066
4 4t v # 10, 120
7 ¥R {1 ¢ 469
8 fik 2 543
10 & A 2 1,518
11 % % # 48
12 & 7 B 800
13 Ak Kk OV E 687
18 A& & A4 14, 849

m
p=111Y

— 238 —




(B TH)

. =H ¥ il i B
X o X H A R
1 BB 55 P 61,920 | 2 #&%t 27,734
(NFRR) 8 A - — xR 27,734
SMBFYE 24, 066
[BHIRMER] cPREPY 1, 080
— W AR 61, 920 . TR Y 1, 632
- MUY 3, 654
cHIRFY 7, 341
- BN 5,153
EEFEY 336
- BRSBTS Y 4, 400
kB iE ' 300
- EETY 149
- BRI B R R ENS T Y 21
4 FLER 10, 120
- TATATER B RS A A 10, 120
2 AR—V HEE T 14,667 | 1 M 1,250
(RAR=YF) - B SR 1, 250
: 7T WIEE 146
GRS EN| - #HL 120
— xR 14, 667 . E0 A 2%
8 fik# 464
- B HAFAE 440
- WRARE 24
10 ER%E 119
- VHEES 2 110
- B 9
11 %5 48
o WA HRA AR 1
- PRERAR 47
18 AH LB R O & 12, 640
- As 134
CEEASE 36
- W4 (FREHBh&) 11, 800
- fiBhE (FHEMBIE) 670
SHE20204V 7 5, 497 7 A E 323
¥ - HAL 323
(AR—2 ) 8 eH 79
- Wik 79
[ IEANRR] 10 M 1, 399
- IR 5,497 - YRR 386
. Bl 1,013
12 Ziek 800
- FOMDEFE 800
13 fE b R OVE R 687
- HELEHE AR 387
< N DR 200
- OfhBE R 100
18 A& KR O 4 2, 209
- AE 2,209
R EGEN
— W R 82, 084

— 239 —




() 10 #HEE

() 5 REREE
(H) 2 fkHMx

A £ E | awm £ & ke Lo al -
186, 305 183, 833 2, 472 7 18 # 1,426
10 7% H # 2,208
11 1% % # 411
12 % it Bk 173, 672
13 OB & OV & & A 8, 223
uT #EF ¥ A %= 303
7 & B A % 62
Ha

— 240 —




(Hfr . M)

k4 ¥ il F A
X ool 53 H R
1 AT T e B h 3 4,335 | 7 wmiERE 1, 426
(AB—2 ) - AL 1,426
10 ER% 134
[ RAR] - THEEM R 10
Z Dl 2,152 - (ERER 124
— AR 2,183 11 BBE 14
- (R 14
12 3R 2,761
- fe ik EE LR 2,761
2 AR—V sk E 173,108 | 10 EH%E 2,074
(RAR—VER) - HELE 34
- SRR 40
[FAJERPNER ] - (EkER 2,000
Z it 1 11 &% 397
— % B IR 173, 107 - {REBRE} 306
« F O FECR 91
12 3k 162, 111
- MRS EBEGE 922
- fEEE IR 161, 189
13 AR R OVE s 8,223
- S AR 16
- HEE AR 8, 168
- BB BRARED A5 6 k) 39
14 THFAR 303
- THR 303
3 AR — hiti g% B 4 3 8,862 | 12 Lk 8, 800
(ZAAR—VFH) B EERT 8, 800
17 fi AR 62
[BHEPIER ] - T g% A fi 62
W& 7,900
— AR 962
[ AGR]
H5 (& 7,900
F D, 2,153
— IR 176, 252

— 241 —




(K) 10 #HEH

(GH) 5 (REEKER

(B) 3 vx—Fr ks
i
C N I S S R ' -
29, 101 28, 374 727 1R B 3,125
7 & & 312
8 fik # 1, 801
10 % | % 2,013
11 #% % # 209
12 & e B 5,531
13 48 AR & O & & R 60
18 AWEHMBI R O T4 16, 050
Bt
G 10 HEE
() 5 (REEKEE
(B) 4 #KHBREE
Ao E | W g m | kW - ,
X 2 & i
374, 934 357, 910 17, 024 1 ¥ P 38, 741
2 & B 45,728
3k B F Y % 32, 529
4 3t & # 15, 172
8 fife # 1,276
10 & Jii| # 42, 203
11 % % E 731
12 & it Bl 189, 931
13 8 A B B OV & 5 845
4T HF FH A 7,700
78

18 BB K U

— 242 —




Bz . TH)

= E3 bl B 3!
X 53 X H A ER
1 U —F o THE 29, 101 1 M 3,125
(R R— L) - S FHE B A TR B S 3,125
7 WAEE 312
[MIEAR] « SRR AL 252
ERH & 850 ANy A 60
— M B 28, 251 8 e 1, 801
- BHAE 224
- R 5
- FERI R 1,572
10 FH#E 2,013
- HAEME 196
- BRELE 16
- eBOKE 1, 551
- (EREE 250
11 &#B%& 209
- BfE ERE 160
- PREgCRH 49
12 ZFER 5, 531
- MR FE LR 5,531
13 i AR R OVE 1R 60
- A% B R 60
18 AHEMBIR 02334 16, 050
- #iBh&E (FEMBE) 1, 050
- A4 15, 000
[CAGEN
] VR 32 4 850
— xR 28, 251
(HAL : FH)
JE e pall B e
X 53 53 H A B
1 BB HEHEFE 93, 129 2 Kk 45, 728
(ANFE 11 (1) A - — RIS 45,728
IWBEFUE 32, 529
[BAPRPER ] e BREFY 1, 650
— AR AR 93, 429 - S PR T Y 456
- Hik Y 5,740
- HIRFY 12,022
- Y 8, 463
EEFY 60
- WEfEISL EhFS F 24 3, 000
< RHEAE 200
CERHFY 754
- RERE Y 175
- B PR B R S T2 9
4 JLE#H 15,172
- HTRTAT IR B SLE A A4 15, 172

— 243 —




GR) 10 HER

(H) 5 REEEHER
(B) 4 ZHiaRf
A F E | w o | & 7

— 244 —




(Hpz : TH)

= ES el B B
X 3 X H A R
2 FRGREEHE 45, 698 1 R 22,574
(BB - Z B S RN 173
« SEHEE AL AR B RN 22,401
[FHEANER] 8 WE 719
— R BHR 45,698 - BMSE 700
- AR 19
10 FR%E 7,854
- HELE 5,440
- Bkt 5
- FlIRil S A2 1, 000
- EREE 1,100
- WEMBLE 309
11 @k%%%% 717
%EEW% 406
A 7!<F'X*/|’ 30
(%{tiﬁfﬁﬁiiﬁ*ﬂr 5
- FHEERRA TAORH 6
- PRIREL 121
- 8B HRAERE TR 19
« Z O FEE 130
12 ZFek 12, 943
- MRk EEEEGE 3, 824
- ARSI - EBEAHERT 8, 690
« FOMDEFE 429
13 5 R R OVE 813
- EHE AR OE R 679
- fi gk i BLAE A Rk 40
-« T L e R 22
- A AR RAEY AR 8 A A 72
18 A& & O34 78
- Afg 38
- EAERSE 10
- ffiBhe (FEHBE) 30
3 AR FE (FTFty) 152,442 | 12 ZE3E8 152, 442
(HEHBER) - FOMMOEFE 152, 442
[ PAER ]
— W AR 152, 442
4 EEEFE (D) 83, 365 1 i 16, 167 -
(BBHRHER) o S FHEE AT IR B RN 16, 167
8 fik#e 557
[ AER ] - R E 557
— MR 83, 365 10 B 34, 349
- VHEES 4,321
- PRENE 14, 288
- JEEOKE 13, 740
- [EfER 2,000
11 B#HE 14
- R 5 E PR B BEIE ) AR ARk 6
- FEE FE A SR BEIE B TR 8

— 245 —




) 10 #HEH

(TH) 5 f{REKEE
(B) 41 ¥BHRE%E
VN ? E | B F E =4 Loy l
53 Al 53 5% X 67\ P ﬁ/ﬁ‘
HE
FE
672, 424 642, 324 30, 100
(FR) 11 KEHERE
() 1 BEMOKERR S EE IR
(H) 1 B EERE
. i
A FE i £E ke Loy = py z -
2 2 0 | 18 A& %4 2
H &t
HEt
2 2 0
() 11 KEHEIPE
() 2 oRMERR K EERE
(B) 1 LARKEHEAE
4 i
A HFE E | O £OE 54 33 —
X gal , & FiE]
6 6 0 8 Jift # 1
10 7% il # 1
12 & 7t Bk 1
4T F F A % 1
15 J& B B & 1
18 B HH &M K 022 4 1
B &t
THEH
6 6 0

— 246 —




(Hfr - FHM)

*+ ill Bl BA
X oo 53 H R
12 ZEEE 24, 546
- iR G E FARE 8, 480
- IREERST - EHEAPEZLGE 713
« ZOMDEFE 15, 353
13 R R OVE R 32
- ZOfthfE R 32
14 THFERE 7,700
- THE R 7,700
[BHEAER]
— W% AR 374, 934
[HIEAER])
[ R 3T H 4 850
5 (& 7, 900
DAt 2,153
— MR 661, 521
(W42 TH)
k2 pall B G|
< 5 53 H R
1 B K EEIREE 18 A K 074 2
(RBGR) - fifiBh4e (FFEMDE) 2
[ PAR]
— IR 2
[FHRAER]
— AR 2
[BAIRPER ]
— W R 2
(BA7 : FF)
= Bl 7 H
X 5 % H BN
I EoARMEE K EE RS 8 & 1
GEEEIR) B 1
10 ER% 1
[ ERAER ] - HEERE 1
— X FATR 6 12 Z3eh 1
- R EFELGE 1
14 THHEAR 1
- [E A FE 1
15 Rt b 1
- B 1
18 A& & O 4 1
- ARE 1
[ IRNAR ]
— AR 6
[BHIRAER]
— R 6

— 247 —




) 12 NEH
() 1 NEE
(B) 1 &
0
VN g=OEF | M F E e B
: X 5o & R
2,302, 961 2,277,342 25,619 | 22 {E&R&F|F K OE 5 2,302, 961
Hi
) 12 At
() 1 NfEE
(B) 2. FF
L e 5 i
7N F FE Al e FE ke Loy = N - p
159, 024 180, 380 A 21,356 | 22 BT L OFI5E 159, 024
EH
GR) 12 WNMEH
(| 1 NME®E
(H) 3 ME#E
VN 4 A FE t Loy b
-3 5] -3 %8 X ﬁ} % %3,5
4 4 0 8 Jie # 2
10 55 H # 2
ER;
R
2, 461, 989 2,457,726 4, 263

— 248 —




(A7 . TH) ‘

E: A E 1] B ]
X o 53 H EN
1 EAEEEE 2,302,961 | 22 EEEFTFROEFSIHE 2,302, 961
(BAELHR) - oA 2,302, 961
[BAIRPNER ]
Z DAt 84, 870
— R IR 2,218,001
[FAIRINER ]
Z D, 84, 870
— IR 2,218, 091
(B4 FH)
* ES Al # 1]
X 57 , X H 7
1 fEAEEEE 159, 024 | 22 & &R TR OFI5E 159, 024
(M BGE) - FIIF 159, 024
[BHEAER]
— R 159, 024
[BHRAER]
— R RAIR 159, 024
(BA7 - 1)
4 ¥ il B ]
X 5y v b2 H EN
I {EA RS 4 8 kit 2
(FF E3R) O S ¢ 2
10 =A% 2
[ MAPRNER] - VHEESL LY 2
— %A 4
G REN
— % AR 4
[FAIRMER ]
F Dt 84, 870
— R 2,377,119

— 249 —




) 13 #EEXH4e
(1H) 1 LEMERGE
() 1 +HEE#E
. i
VN g ZTI i3 =4 L1
X 43 4 |
1 1 0] 1678 7 B pE I8 AN & 1
E
5t
1 1 0
R 13 4
(I|\) 2 KEEEESEME
() 1 KEE#EESEMNE
- i = i's A fi
K £ B Gl F Iy |54 % - > - p
25, 000 1 24,999 | 20 & fF 4 25, 000
HE
IHE
25, 000 1 24,999
G 14 T
() 1 T
(B) 1 TlH#E
R = E [E1] s 3 He [0 al
" =" . 5 % 7 & @
60, 072 57,715 2,357
Bt
EE
60, 072 57,715 2,357

— 250 —




(BAZ : TH)

%

Al

E‘:‘&

il

=
1 M PEE S 3

%

%

(& RR)

[HIEAMR]
—ARSIR
[HIRPER]

16 A MEB AR
- B

— AR

[ IRAER]
— AR

+

7l

(HAL: 1)
H)ﬂ .

X

é}é}

T 0
(fehs Bm)

[ iRMER]
w5 s

25, 000

25, 000

20 |4
- St

25, 000
25,000

[(MIRAER]
H 7%

25,000

[RPER]
" fi

25,000

(HAL : TH)

*

il

i

X

%

[ IRNER]
— R IR
(R ER]

60, 072

— AR

60,072

— 251 —




